Day 1: 3.1 - Reciprocal of a Linear Function

When you add, subtract, or multiply two polynomial functions, the result is another polynomial
function. When you divide polynomial functions, the result is a rational function.

The simplest rational function is the reciprocal of a linear function

EX 1 - The simplest form of the reciprocal of a linear function is the function f(x)= 1 . Graph the
x

function using the table of values, then state the domain and range, and equation of the asymptotes.

§

>

: 2 TN
0 undefined — T
% 7 <t -1 1 2
1 , \K 1
2 09

y2

Domain: { e B ' =2 —‘F © j’

/
=

Oﬁ' axéC»C&J/‘O)U CC))OO)

Range: i %é—lfi—' %’%0}
C& %é (w0, o) U ( @/OO)

Horizontal Asymptote: 3 =0 Vertical Asymptote: =€ = O

Page |2




EX 2 - Identify the following properties for the given rational function:
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EX 3 - Sketch the graph of the function f (x) =
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. Then, state the domain and range.
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EX 4 - Increasing/Decreasing Slope

For the following functions, describe the intervals where the the slope is increasing and slope is
decreasing. Include the sign of the slope (positive or negative).

* The intervals are based on the vertical asymptote
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